.MATLAB

2008.5.11

MATLAB

Mathematica
R

MATLAB Mat

3+4 7

> 3+4
[11 7

> x<-3+4
> X

[11 7

> y<-X+2
>y

[11 9
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1
scilab  octave
R Splus
““Matrix Laboratory”~ MATLAB
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R
> x<-1:5
> X
[1] 1 2345
> xXN2

[1] 1 4 9 16 25

MATLAB

0 1 0.1 X p.195
R

> x<-seq(0,1,by=0.1)
> X

[1] 0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0

0 1 0.1 2 p.195

R
> y<-xX"2
> plot(x,y)
> plot(x,x"2)
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R
> activitylevel<-seq(0,1,by=0.1)
> cost<-activitylevel”2
> # this plots cost against activitylevel
> plot(activitylevel,cost)

argument
0

MATLAB MATLAB

plot
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1 plot

function[output]= functionname[arguments]
R functionname<-function (arguments)

1 30
beerproblem
R
beerproblem <-function(salary,rent,beermoney){
# beerproblem<-(salary-rent-30*beermoney)
# This calculates
# 1 assume
return (salary-rent-30*beermoney)

s
% R # MATLAB
help %
beerproblem beerproblem.m
R R
700 250 30 450
R
> beerproblem(700,250,30)
[1] -450
1000 250
30
R

> beerproblem(1000,250,30)
[1] -150
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150 1000
30
R
> beerproblem(1000,150,30)
[1] -50

25 1000
150
R
> beerproblem(1000,150,25)
[1] 100

1000 150
linspace R seq

R
> beer<-seq(25,30, length=100)
> savings<-beerproblem(1000,150,beer)
> plot(beer,savings)

beer

> beer

[1] 25.00000 25.05051 25.10101 25.15152 25.20202 25.25253 25.30303
25.35354 25.40404

[10] 25.45455 25.50505 25.55556 25.60606 25.65657 25.70707 25.75758
25.80808 25.85859

[91] 29.54545 29.59596 29.64646 29.69697 29.74747 29.79798 29.84848
29.89899 29.94949
[100] 30.00000
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R
beerproblem2 <-function(salary,rent,beermoney){
# MBB<-(salary-rent)
# moneyleft<-(salary-rent-30*beermoney)
# This calculates
# 1 assume
MBB<-(salary-rent)
money left<-(salary-rent-30*beermoney)
return (moneyleft,MBB)

}

beerproblem2 <-function(salary,rent,beermoney){
# MBB<-(salary-rent)

# moneyleft<-(salary-rent-30*beermoney)

# This calculates

# 1 assume

MBB<-(salary-rent)

money left<-(salary-rent-30*beermoney)

return (c(moneyleft=moneyleft, MBB=MBB))

s
> beerproblem2(1000,150,25)
moneyleft MBB

100 850

> x1000<-beerproblem2(1000,150,25)
> x1000["moneyleft”]
moneyleft
100
> x1000["MBB"]
MBB
850



ESS find_ess(temperature)
2 12

R find_ess(temperature)

MATLAB

R
> y<-c(2,4,3)
> yl[2]
[1] 4

R
> tail(y,n=1)
[1] 3

n

R
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p.200
ESS

1x<1

n=3 3

> A<-matrix(c(2,4,3,5,7,2),ncol=3,byrow=TRUE)

> A
[.11 [.21 [.3]

[1.] 2 4 3

[2,] 5 7 2

A (1,2)

> A[1,2]
[1] 4



> AL, 1]
[1] 2 5

A
R
> B<-cbind(A[,3]1.A[.1])
> B
[.11 [.2]
[1,] 3 2
[2.] 2 5

R
> B[1,1]<-0
> B
[.11 [.2]
[1.] 0 2
[2,1 2 5

R
> B<-cbind(A[2,1,.A[.1])
Warning message:#

Birds(:,34) 34

MATLAB
X(1,10) 1 10
max
0 2
X

Birds

x*exp(-x)
p.202
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p.201

MATLAB



R
> x<-seq(0,2,by=0.01)
> Fre<-x*exp(-x)
> plot(x,fit)

R
> max(fit)
[1] 0.3678794
> which._max(fit)
[1] 101
> x[101]
[1] 1
> Fit[101]
[1] 0.3678794
> xX[which.max(fit)]
[1] 1

x=1
MATLAB
2>3
R

> 2>3
[1] FALSE

R

> fitnessA<-c(2.3,3.4,3.3)
> fitnessB<-c(0.4,3.6,3.7)

> FitnessA>TitnessB
[1] TRUE FALSE FALSE

A

B
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> DoA<-TitnessA>TitnessB
> DoA
[1] TRUE FALSE FALSE
> BestFitness<-DoA*fitnessA+(1DoA)*fitnessB
> BestFitness
[1] 2.3 3.6 3.7
R
> BestFitness<-DoA*fitnessA+1DoA*TitnessB
> BestFitness
[1] 2.3 1.0 1.0

> IDoA*fitnessB
[1] FALSE TRUE TRUE

1 10 2
R
doublel<-numeric(10)
halfl<-numeric(10)
for (1 in 1:10){
doublel[i]<-i1*2
halfl[i]<-i/2
}
doublel
[11] 2 4 6 8 10 12 14 16 18 20
> halfl
[1] 0.51.01.52.02.53.03.54.04.55.0
#R double
#R

v + + + V V V

10 I 2 I
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R
> x<-seq(1:10)
> doublel<-x*2
> halfll<-x/2
> doublel
[1] 2 4 6 8 10 12 14 16 18 20
> halfl

[1] 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0

double[]] 10
10
double
R > doublel<-numeric(10)
t+1 t
0] 1
100
R
N<-numeric(101)
N[1]<-100

r<-numeric(100)

lambda<-numeric(100)

for (t 1n 1:100){
r[t]<-rnorm(1,mean=0,sd=1)
lambda[t]<-exp(r[t])
N[t+1]<-N[t]*lambda[t]

by

> N<-numeric(101)

> N[1]<-100



v V. + + + + V V V

r<-numeric(100)
lambda<-numeric(100)
for (t 1n 1:100){
r[t]<-rnorm(1,mean=0,sd=1)
lambda[t]<-exp(r[t])
N[t+1]<-N[t]*lambda[t]
+
plot(1:101,N)
hist(lambda,breaks=20)

2

t 1 100 N[2] N[101]
t plot(t,N)
hist MATLAB

r lambda

100

p.205

0.01
R
condition<-seq(0,1,by=0.01)
behaviour<-numeric(length(condition))
for (1 1n 1:length(condition)){
behaviour[1]<-condition[i]
}

plot(condition,behaviour)

100

p.206

for
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> p.206
R
condition<-seq(0,1,by=0.01)
genotype<-c(1,2)
fitness<-mat.or.vec(length(condition), length(genotype))
for (1 1n 1:length(condition)){
+for (J in 1l:length(genotype)){
+fitness[i,j]<-condition[i] *genotype[j]l

>
>
>
>

+}
+}
# mat.or.vec() 0 R
Rice,2004
7
p.206
R

> condition<-seq(0,1,by=0.01)
> genotype<-c(1,2)
> fitness<-genotype%o%condition



